We have seen that most Arabic nouns are declinable. Some are indeclinable, i.e., they do not indicate their
functions by changing their endings. The following groups are indeclinable (mabni).
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1) The pronouns like: bl ¢&a! ¢ 5a. Likewise v and /i in <1y (I saw him) are pronouns,

You might have noticed that there are two sets of pronouns. One set is used as ra/* pronouns, and
another set as sash and jarr pronouns, e.g.:

u>u ‘We are students.’
¢ L.;\J\ ‘Did you see us?’
. \.é;: | “This is our house.’
But the changes that the pronouns undergo have no pattern. So each form of the pronoun is regarded as a
separate entity. That is why the pronouns are classed as indeclinable though they undergo changes to
indicate their functions in the sentence.
| éju'u}’\ slaw! |
. 4 é 2 -
2) Demonstrative pronouns like: gl ¢¥3a (U3 coda (|0 but 9lia and
g . . R’ 02
W Obla are declinable (&7 a0).
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3) Relative pronouns like: GJ)U\ Lol ‘u‘f‘“ ¢ s, but Ol and QL are
declinable.
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4) Some interrogative words like: CaS™ ¢ & (Lo (3l (Ja ¥ E s (i ()
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5) Some adverbs like: 0! ¢ U.MT c:.,.o- )3,
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6) The verb-nouns A verb-noun is a noun with the meaning of a verb, like:
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3\ ‘I am annoyed.’ 9'_’ ‘1 feel pain.’ el “Accept.’

A

Ea,s,u\ slasYl

7) Compound numbers These are:.:“.é« 2 up to }:x}« jii...g": along with their feminine forms.

Only the first part of 55 L3l and 35 &) is declinable
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With regard to a mu ‘rab noun we say it is marfii‘, mansiib or majrir, but with regard to a mabni noun, we
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say:itis 3 |5 @ (wal [ B () J>a die, itisinthe place of raf’, nash or jurr, because
a mabni noun cannot be marfii, mansiib or majrir, but it occupies a place that belongs to a marfii ', mansiib
or majriir noun; and if a mabninoun were to be replaced by a ns ‘rab one it will be marfii ', mansiib or majriir,
e.g.:
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in 'Y')’u i.ﬂ 5, the noun YBMS mansiib because it is 4 J j«.é.d\,but

. + } * b1 . . . .
in 1la gl ), the noun |da s ‘in the place of nash’ because it occupies the same

place as the mansiib \}%




